R L5 06 Al
FHEL 2 15 FERHIMI-AC-BC ] FHE[ ] K4 [ ]

3/ A2 6), B4, 2), C(6 4) #IEA LT 5AABC DL DEE %,

WDIETRIZHEVRD Lo F7-, SMEMO TR EZ KD X, A
(1) #57 AB O 2 500 FFEKEZ RS X,
. . 4) (2 2
AR L AB=b-a=| |-| |=
D7 b 5-a @ [GJ (_4] D :
@ ABodaD d=tl 2[4 [3
2lle) (2 4 B ol C
QFEME 20 2(x—3)-4(y-4)=0
2x—-4y+10=0 SoX=2y+5=0

(2) #45r BC OIEE 2 %MD HFEN A RD X, [#i BC OH AT E &9 2]

(3) AABC DH 1> Q DJEFE AR D L,

(4) S o R AR L, (Hint : FRRIZTAX X |BQ|T:ROBND)

=ARO 3P ORE __FEIIE LA TEDY,

Z DRI DA TERE TOEREZEE L,
ZD1RTREDSTER Q Z =AIOFMD &,
=MD 3 SDOIERAZBEL M ZMER & WV ET,

S O AR R TF L E T B\/ ¢




VAR A E
L 2 14 ERIMI-AC-BC ] &S ] K4 [ ]

34 A2 6), B4 2), C(6, 4) #IEHETHAABC DAL Q DFERE %,
WOFERIZHEV RO L, T2, MEHOFEAEZ KD L,
(1) #%3 AB OIEE 2 5080 HREREZ KD &L,

PN e () (2) (2
i< e ages-a( ) (2)-[2) W\

N So1f(2) (4] (3 Q
was w4043

@ 2 HiE 2(x—3)—4(y—4) =0 B E|
2x—-4y+10=0 SoX=2y+5=0
(2) #57 BC O 2 S0 0 FEKEZRD X, [# BC OHFAIZE L9 5]

g T = (6) (4 (2
OiEf~27 L BC=¢ b_(4j [2}(2}

o 1[4y (6) (5
@ BC OIAE 6= 2{(2}{4}}_[3}

@FEE 2 58 2(x=5)+2(y-3)=0
2X+2y-16=0 SoX+y-8=0
(3) AABC DH 1> Q DJEFE AR D L,
WO HTRRRDERIL Q DFFTH 5,
{X—Zy:—S Ly "5+16 11 8+5 13

X+y=8 - 1.2 3 YT1:2 3
11 13

& =, =

( )Q[3 3}

(4) S o R AR L, (Hint : FRRIZTAX X |BQ|T:ROBND)
- 1(1 (4 1)
sa-a-6-3(,-[5)3(7) +
R-{BG| /(Jj m F&Bﬁ
3 3 9 3
3 2

2
S O St (x—lslj +(y—13j _50
—fARO 3WDOEE __FEoRIT 1R TRDY,
FDENOETEMN E TOMEBHTSE LV,
ZD 1R T8 Q & =AML &V,
“AEO 3 OOTENZBEALIHEZNMER &V ET,

S O AR R TF L E T Bv ¢
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